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| Just fill in the boxes. |

LIf Yes, show how; if No, explain why.l @

[7+6+12 points] 1
1. Suppose you are told that a function f satisfies the condition:
3 —3r-3< f(z) <922 —27x +17  for lzr—2| <1 )

a. Is it possible to determine the value of lirr% f(z) using only this information? Myss O No
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b. At this point you peek at your neighbor’s paper, and see that Yes is marked in Part 1c and then
the solution starts with the sentence:

Taking derivatives of all sides, we obtain (z3 — 3z —3)' < f'(z) < (922 — 27z +17)’ for |z —2| < 1.

You immediately realize that this cannot be true, because j—x(x?’ —3z—-3) = 37(53 and
d
212(9”52 —27z+17) = | I§x -2 , and if we take a = [3/5 |, then |a — 2| < 1 but
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c. Is it possible to determine the value of f’(2) using only this information? IB/Yes O No
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